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6/2 H8 H16
Rsa
Rsa
Rsa
Rsa (mm)
55 300 50 150
(mm)
S63.6.1 46.0 — 46.0(15.3)
H1.9.1 29.6 — 29.6(4.6)
H2.9.16 56.6 — —
H5.6.28 49.3 49.3(30.2) —
H5.8.1 28.1 28.1(36.1) —
H5.8.13 47.4 47.4(27.4) —
H7.5.10 60.4 60.4(33.7) —
8.8.26 112.3 112.3(80.1) —
H9.8.4 4.2 4.2(13.0) —
H10.9.21 81.6 81.6(82.8) —
H10.10.13 25.1 25.1(32.5) 25.1(16.5)
H11.6.23 19.6 19.6(27.7) 19.6(2.1)
H11.9.14 66.8 66.8(58.3) —
16.10.18 65.5 65.5(36.2) 65.5(37.4)




Rsa

Rsa>=
Rsa
$63.6.1 H9.8.4
Rsa(mm) Rsa(mm)
55 > 46.0 97.379 26| 55 > 4.2 97.379 2
300 > 46.0 97.379 142] 300 > 4.2 97.379 1.
50 > 46.0 97.379 24| 50 > 4.2 97.379 2]
150 > 46.0 97.379 71 150 > 4.2 97.379 6}
55 > 46.0 86.853 29 55 > 4.2 98.254 2
300 > 46.0 86.853 159 300 > 4.2 98.254 1
50 > 46.0 86.853 26| 50 > 4.2 98.254 2
150 > 46.0 86.853 79 150 > 4.2 98.254 6}
H1.9.1 H10.9.21
Rsa(mm) Rsa(mm)
55 > 29.6 97.379 17] 55 > 81.6 97.379 46
300 > 29.6 97.379 91 300 > 81.6 97.379 251
50 > 29.6 97.379 15| 50 > 81.6 97.379 42)
150 > 29.6 97.379 46| 150 > 81.6 97.379 126f
55 > 29.6 86.853 19| 55 > 81.6 98.254 46
300 > 29.6 86.853 102f 300 > 81.6 98.254 249
50 > 29.6 86.853 17] 50 > 81.6 98.254 42)
150 > 29.6 86.853 51) 150 > 81.6 98.254 125
H2.9.16 H10.10.13
Rsa(mm) Rsa(mm)
55 > 56.6 97.379 32| 55 > 25.1 97.379 14}
300 > 56.6 97.379 174 300 > 25.1 97.379 77)
50 > 56.6 97.379 29 50 > 25.1 97.379 13}
150 > 56.6 97.379 87| 150 > 25.1 97.379 39
55 > 25.1 98.254 14
H5.6.28 300 > 25.1 98.254 77)
Rsa(mm) 50 > 25.1 98.254 13}
55 > 49.3 97.379 28| 150 > 25.1 98.254 38}
300 > 49.3 97.379 152 55 > 25.1 86.853 1
50 > 49.3 97.379 25 300 > 25.1 86.853 87|
150 > 49.3 97.379 76) 50 > 25.1 86.853 14
55 > 49.3 98.254 28| 150 > 25.1 86.853 43
300 > 49.3 98.254 151f
50 > 49.3 98.254 25 H11.6.23
150 > 49.3 98.254 79) Rsa(mm)
55 > 19.6 97.379 11}
H5.8.1 300 > 19.6 97.379 6
Rsa(mm) 50 <  19.6 97.379 1
55 > 28.1 97.379 16| 150 > 19.6 97.379 3
300 > 28.1 97.379 87| 55 > 19.6 98.254 11
50 > 28.1 97.379 14) 300 > 19.6 98.254 6
150 > 28.1 97.379 43| 50 > 19.6 98.254 1
55 > 28.1 98.254 16| 150 > 19.6 98.254 3
300 > 28.1 98.254 86| 55 > 19.6 86.853 12}
50 > 28.1 98.254 14) 300 > 19.6 86.853 6
150 > 28.1 98.254 43| 50 > 19.6 86.853 1
150 > 19.6 86.853 34}
H5.8.13
Rsa(mm) H11.9.14
55 > 47.4 97.379 27| Rsa(mm)
300 > 47.4 97.379 146 55 > 66.8 97.379 38}
50 > 47.4 97.379 24 300 > 66.8 97.379 206
150 > 47.4 97.379 73] 50 > 66.8 97.379 34
55 > 47.4 98.254 27| 150 > 66.8 97.379 103
300 > 47.4 98.254 145| 55 > 66.8 98.254 37|
50 > 47.4 98.254 24 300 > 66.8 98.254 204
150 > 47.4 98.254 72| 50 > 66.8 98.254 34
150 > 66.8 98.254 102f
H7.5.10
Rsa(mm) H16.10.18
55 > 60.4 97.379 34 Rsa(mm)
300 > 60.4 97.379 186| 55 > 65.5 97.379 37)
50 > 60.4 97.379 31 300 > 65.5 97.379 202
150 > 60.4 97.379 93] 50 > 65.5 97.379 34}
55 > 60.4 98.254 34 150 > 65.5 97.379 101
300 > 60.4 98.254 184 55 > 65.5 98.254 37)
50 > 60.4 98.254 31 300 > 65.5 98.254 201
150 > 60.4 98.254 92| 50 > 65.5 98.254 33}
150 > 65.5 98.254 10
H8.8.26 55 > 65.5 86.853 4]
Rsa(mm) 300 > 65.5 86.853 226f
55 > 112.3 97.379 63| 50 > 65.5 86.853 38}
300 > 112.3 97.379 346) 150 > 65.5 86.853 113]
50 > 112.3 97.379 58|
150 > 112.3 97.379 173
55 > 112.3 98.254 63|
300 > 112.3 98.254 343
50 > 112.3 98.254 57|
150 > 112.3 98.254 171




(m3/s)

122 806 1249
S63.6.1
154 1.26 1145 1.42 1254 1.00
76 835 1370
H1.9.1
112 1.47 1117 1.34 1318 0.96
128
H2.9.16
134 1.05
76 152
H5.6.28
56 0.74 113 0.74
115 113
H5.8.1
161 1.40 208 1.84
66 132
H5.8.13
57 0.86 67 0.51
95 147
H7.5.10
102 1.07 202 134
190 207
8.8.26
154 o0.81 122 0.59
87 156
H9.8.4
123 141 336 2.15
144 179
H10.9.21
109 o0.76 199 111
114 228 1176 1267
H10.10.13
174 153 342 150 1235 1.05 1337 1.06
201 300 1673 2101
H11.6.23
212 1.05 393 131 1727 1.03 2139 1.02
87 129
H11.9.14
67 0.77 126 0.98
271 551 2904
16.10.18
246 0.91 429 0.78 2566 0.88
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Rsa

(m3/s)
122 806 1249
S63.6.1
154 1.26 1262 1.57 1372 1.10
76 835 1370
H1.9.1
112 1.47 1274 153 1522 1.11
128
H2.9.16
134 1.05
76 152
H5.6.28
56 0.74 217 1.43
115 113
H5.8.1
161 1.40 159 1.41
66 132
H5.8.13
57 0.86 161 1.22
95 147
H7.5.10
102 1.07 252 1.71
190 207
8.8.26
154 o081 204 0.99
87 156
H9.8.4
123 1.41 273 1.75
144 179
H10.9.21
109 0.76 197 1.10
114 228 1176 1267
H10.10.13
174 153 342 1.50 1235 1.05 1337 1.06
201 300 1673 2101
H11.6.23
212 1.05 393 1.31 1731 1.03 2144 1.02
87 129
H11.9.14
67 0.77 164 1.27
271 551 2904
16.10.18
246 0.91 567 1.03 3009 1.04
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